
t‘ = β ( t  - v x /c  )

x‘ = β ( x - v t )

(10)

2

B(0) A(v)

v 

x = c t

x’ = c t’

x’ = 0 x’ = v t’

x = ０

♡

Case(3)

t‘ = β ( t  + v x /c  )

x‘ = β ( x + v t )
2

(11)
t = β ( t’  + v x’ /c  )

x = β ( x’ + v t’ )
2

(12)

Exchange A and B

For Case(1) and Case (2) event

For Case(3)

to get Case(1) event 

Case (3) is a different event from Case (1) and (2).  

Case(1) and Case (2) describe the same event.

For Case(1) and Case (2) event
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